Andhra Pradesh State Council of Higher Education

Notations :
1.Options shown in green color and with ¥ icon are correct.

2.0ptions shown in red color and with * icon are incorrect.

Question Paper Name : AP ICET 2023 24th May 2023 Shift 1
Duration : 150
Total Marks : 200
Display Marks: Yes
Share Answer Key With Delivery Engine : Yes
Calculator : None
Magnifying Glass Required? : No
Ruler Required? : No
Eraser Required? : No
Scratch Pad Required? : No
Rough Sketch/Notepad Required? : No
Protractor Required? : No
Show Watermark on Console? : Yes
Highlighter : No
Auto Save on Console? Yes
Change Font Color : No
Change Background Color : No
Change Theme : No
Help Button : No
Show Reports : No
Show Progress Bar : No
Is this Group for Examiner? : No
Examiner permission : Cant View
Show Progress Bar? : No
Analytics Ability
Section 1d : 74739028
Section Number : 1
Mandatory or Optional : Mandatory
Number of Questions : 37
Section Marks : 75
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Is Section Default? : null

Question Id : 7473901900 Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 20)



Data Sufficiency
BZro? Do

Note: In questions numbered 1 to 20, a question is followed by data in the form of two statements
labeled as I and II. You must decide whether the data given i the statements are sufficient to answer
the questions. Using the data make an appropriate choice from (1) to (4) as per the following guidelines:
a) Mark choice (1) if the statement I alone is sufficient to answer the question.
b) Mark choice (2) if the statement IT alone is sufficient to answer the question.
¢) Mark choice (3) if both the statements I and IT are sufficient to answer the question but neither
statement alone 1s sufficient.
d) Mark choice (4) if both the statements I and IT together are not sufficient to answer the question
and additional data is required.
Qresd: 1 dod 20 HO ADD DS g%léém 28 93) , o S0t I, I 0 tbhen (o Fotd Hdsren
GT0FoIP FDIWEPOD. RN BB0F0 GHATH0W), AND PIVTW PF) D DATFTTV) W3 00
DOJD BPT0I® To@ 8 W ngaoa‘e'). & P Ceasd 808 Irgecys drgren &darAo (1)
004 (4) HOH HO 90D RaICLDND) Do ao:;5od.
) DI H JArEEH0 RSYoH PISD0 I Srrgdd DorgHdonS Do aare (1) e hodod .
b) £¥) % DIrErdo RSB0 PHIID0 I Srddo HoRHH0S D 2avew (2) e hfosod.
) 23)H D3RS0 adyoH HISTew L, I 53D Hoegdvong @odé” D w88 Srae Hovgo
seE°S o adren (3) M Hbood.
d) DF)DH JIrErD0 RByoH POSTen I, IT 8D Sree DoR0 5°8 G TR0 8500
e 20 2aeew (4) e HBowod.

Sub questions

Question Number : 1 Question Id : 7473901901 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Who is the father of M?
M (:JBJSEI SoG DedB0?

I A and B are brothers.
A 20830 B D'edhen.

II. B's wife 1s sister of M's wife.
B a0wg); edf M 236§ o30S, D6

Options :



1. #1
2. 82
3.%3
4.4

Question Number : 2 Question Id : 7473901902 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

What is the sum of x’ and y © ?

x? 00 y ¢ B0 )Oeh?

L. PQ and RS are straight lines
PQ DO RS HS Bpyen

II. x°=100°

Options :
1.¥1
2. %2
3.83
4. % 4

Question Number : 3 Question Id : 7473901903 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

How many tiles are needed to fit in the rectangular floor of a room?

8 (10 ABE), AGBBETE G WIS WENTEIS D) DOLD 9DVG0?

I. Ratio of length and breadth of a room 1s 9:5 and perimeter of the floor is 140 mt.

08 (A0 & o3 DEQN DB 9:5 Sodasw Qo ctnSeod 1402.

II. Price of 100 tiles 1s Rs. 500 and total expenditure to fit the floor is Rs. 12000.
506 865y B8 63°.500 a0 HGA3L TPED DAL Band Ao Sjato

&o°. 12,000.

Options :
1. %1
2. %2
3.%3



4.4 4

Question Number : 4 Question Id : 7473901904 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Is the integer a divisible by b?

Tosiw a, b § erfodecoduon?

1. a 1s the product of three consecutive integers

2T DGR t’..g_jﬂg“os"&} ©eo a

II. a 1s the sum of three consecutive mtegers
AL DB Q‘jﬂg’o@@ Q0G0 a

Options :
1.¥1
2.8 2
3.%3
4. % 4

Question Number : 5 Question Id : 7473901905 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

What 1s the value of 2a+4b+2¢?
2a+4b+2c o?méb e Doch?
I. at+tb=20

II. b+c=50

Options :
1. %1
2. %2
3.¥3
4. % 4

Question Number : 6 Question Id : 7473901906 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0



In how much time will P and Q together be able to complete a piece of work?

P, Q e S0 208 DD Q18 SaHErAs Qod WO DEIXAE?

1. Q alone takes 40 minutes more than R who alone takes 40 minutes less than the

time P alone takes to finish the work.

R 2,88 &2 D 8 DaHzrAS HEG Dddoio S0 Q ) A 40 ddaren &S
DA, P auézjé, DA 8 SaDHErAS DE Davode Soés R e.;ﬁzj&é 40
DAATrew B5),0 DEOSVB.

II. P alone takes 4 hours to finish the work.
23 DA Yo VabeeAs P msbéé TP (fotren DEDSVOM.

Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 7 Question Id : 7473901907 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

In which year was Durga Rao born

SOTTD 5 'r'oo:}e‘.‘sbfjoe?“ 2) 0T ?

I. Durga Rao at present is 25 vears younger to his mother
VRS0 TTY S S8 Sotd 25 DEL DY e,

II. Durga Rao’s brother, who was born 1n 1964, 1s 35 years younger to his
mother.

1964¢5° &.‘O&oi’.}é cﬁ)g"o"@ DD S5 3 Sot3 35 DO E)él;)"da.

Options :
1. %1
2. %2
3.3
4. ¥ 4

Question Number : 8 Question Id : 7473901908 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0



A. B, C. D and E are sitting in a row. B 1s in between A and E. Who among them
is in the middle?

A.B. C. D a08a50 E G 478 yT7) 6 . A 2080w E 0¢s§ B 88\ 6.
T8 0E(E” DHETY K07

I. A is left to B and right of D

B & &0 A 208ain 6 D3R D &) o
I1.C 1s at the right end.

A& D) DHBS® C &) €

Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 9 Question Id : 7473901909 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

In a code, 'lee, pee, tin' means 'Always keep smiling'. What 1s the code for

'smiling'?
E&¢e5°, 'lee, pee, tin' @083 'Always keep smiling' e @do .'smiling’ 9D DS

§& D&Y?

L. 'tin lut lee' means 'Always keep left".

'tin lut lee’ e9083 'Always keep left'.

II. 'dee pee' means 'Rose 1s smiling'.

'dee pee' @0€3 'Rose 15 smiling'.

Options :
1. %1
2. %2
3.¥3
4. % 4

Question Number : 10 Question Id : 7473901910 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Is X=Y?
X=Y @)edb0?
1 =

oI xXx=Y
Options :
1. % 1
2. %2
3.%3
4.4 4

Question Number : 11 Question Id : 7473901911 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

IS X>Y?

X>Y @) oe?

I X < 3
. Y/ >3
Options :
1. %1
2. %2
3.%3
4.4 4

Question Number : 12 Question Id : 7473901912 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

A and B, P and Q start munning towards each other simultaneously and meet

after]120 minutes. What 1s the speed of A?
A 8050 B, P 208030 Q e 288846 Je0BEudT dEsrvo0es” HORGE
FrBoDomdd. DBaATL 120 Aare ST (S SenJD. A ad0s); Sffo Joth?

L Q 1s 35 kms away from B and speed of A 1s 120% of the speed of B
Q &00d B 35 8.20 ¢irdoes” &™) ¢ &ndatn A ding) o B Drfees® 120%.

II. Distance covered by B is 15 kms.
B 0036300 &rdo 15 &.90.

Options :



1.v¥ 1
2. %2
3.%3
4. % 4

Question Number : 13 Question Id : 7473901913 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

What is the amount of money Mr. A saved from his monthly salary?

A 3 D08 B0 Ao 3T DD cie.na Doeh?

I. Monthly salary of Mr A 1s Rs. 18000
A @8, duTrd &e¢so dr.18000

[I. The amount spent on house rent and provisions by Mr A in that month 1s
Rs. 12500

A 08 @3 208050 DER §R0 &2 e DD Ao 6. 12500

Options :
1. %1
2. %2
3.%3
4.9 4

Question Number : 14 Question Id : 7473901914 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Does the circle A with radius ‘x” touch circle R with radius ‘y” internally?

X [ Go &) Do A @oBBBTT 'y TFEod &) R D Trerduor?
@ = 0 @

1. The two circles touch each other at only one pomnt.

B0t T 28TAEE) & 28 Dot HE Ardd T LT OW.

II. The distance between centre of A and B 1s “x-y”.

A 0803w B Sopre SDG] GrGo Xy’

Options :
1. %1
2.¥2
3.83
4.8 4

Question Number : 15 Question Id : 7473901915 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



How many people are sitting in between A and R, where all the people are facing

the centre?

D@06 Sofio DL Gol T A 801D R H065(eS° Doth H08 ST B?

I. A sits third to right of R. Only one person sits between A and C.
R adwg), €& ol 207D HS T A Srddyod. A 20800 C 065 28 (8
SUSRVE e Tagleb)

I1. C sits second to left of R. B 1s in between A and C.

C 038 R QI0S); Aoc: Cotidd. A Ho8ain C Sociold =06 B

Options :
1. %1
2.¥2
3.83
4. % 4

Question Number : 16 Question Id : 7473901916 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Find the area of rectangle?

&Y BB060 TE), PTe0 SXE) 0l ?
i)

I. The length of rectangle is 1.5 times the breadth of rectangle.
BEBAGR0 WME), T'¢hed Dty Sof 1.5 Tew.

II. The perimeter of rectangle 1s 250 meters.

&Y 060 tnEud 250 .

Options :
1. %1
2. %2
3.3
4. ¥ 4

Question Number : 17 Question Id : 7473901917 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Who is the tallest person among Raj. Ram. Ramsai?
T°5, T°Q) , T°0°00 0e5° 90385063 ' EODD a°BGHH?

1. Raj 1s taller than Ramsai

T°oPOY) Sotd T°F o CORDDTED

II. Ramsai 1s shorter than Ram

S VIS Toro) f)“é;e?gmdo
Options :
%1
2. %)
3. %3
4.4 4

Question Number : 18 Question Id : 7473901918 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

What 1s the rank of Delhi on the basis of population?

2w PADOED G Awg), T8 Jos?

I. Chennai population 1s 15,50.000 and it 1s less than Delhi by 3,50,000
B) g 2372 15,50,000 Sodokn @b é;&_} 2372 So&) 3,50,000 85 5.

II. Jaipur population is more than Chennai population.

Erd acer D) BT o3 SEVE

Options :
1. %1
2. %2
3.%3
4.9 4

Question Number : 19 Question Id : 7473901919 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Does the positive integer n divisible by 217

& rgrogo n , 21 & Prhodecdsoe?

L 6 divides n
n & 6 2B

II.  nisamultiple of 14

14 033055 (eSS0 n

Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 20 Question Id : 7473901920 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

What 1s the average of the numbers ai, az.....ai6 ?

3, 8pueenyBig VOPLW ODS) VLD DoB?

I a1, a».....a16 are consecutive odd natural numbers

), Bpennri QO DER B3R T2 Do
IL. ;g =31

Options :
1. %1
2. %2
3.¥3
4. % 4

Is Section Default? : null

Question Id : 7473901921 Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (21 to 25)



Problem solving QIR DB, Go

Sequence and series 29007 H0803L Fraew
Analogies oS3V
Note: -

In each of the following questions (from 21 to 25), a sequence of numbers or letters that
follow a definite pattern is given. Each question has a blank space. This has to be filled
with the correct answer from the given four options to complete the sequence without

breaking pattern.
QArLI: -

Sod HA 0% (21 &0od 25 ) ° 'ai')')a‘) ROPLRD T LT T 28 S0eQ200
QAADATIY FERWTYow. BB D) S°D 3O FND TOD DANE® Aok DO
27°20A) A §'Q AN AoHTAS Foffo ST Jyrdocdod..

Sub questions

Question Number : 21 Question Id : 7473901922 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

10 :26 ::50) :
Options :

L% 93
L % 120
3.8 80

W v 122

Question Number : 22 Question Id : 7473901923 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

3 bl
Options :

» 123



216

2. %
L% 343
L« 196

Question Number : 23 Question Id : 7473901924 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

W32 V20, K23 NIJD
Options :

v W26
2% W7

s u BT

\ x 226

Question Number : 24 Question Id : 7473901925 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

8.43,11,41, 39.17.

Options :
1. ® 8

x4

Question Number : 25 Question Id : 7473901926 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

In the string of given letters a pattern is repeated, but at one place the pattern is broken .
Identify the missing letter(s) from the answer options. The string is
“AABBCAABBCABBCAABBCAABBC”.

AN WETL Hred a8 SO wgow S SIS . 058 S5 DO SaIDH

SHORD T AN DATTTOS” Hotdodt.

“AABBCAABBCABBCAABBCAABBC".

Options :
1.v A



2. ® B

3.

4% AA
Is Section Default? : null

Question Number : 26 Question Id : 7473901927 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Sequence and series 0G0 Sudain Fraew
Odd thing Out RBY’VAE DB

Find the odd thing out from the following

& $08 I\ DTS’ BT (DBocsod
Options :

124

1. ®

Lo 343

;. % 26

4% 7

Question Number : 27 Question Id : 7473901928 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Sequence and series e DG SHo8aiy Fraven
Odd thing Out RBY’VIE 8ot

Find the odd thing out from the following

& $08 I DDy’ WOT'IO ool
Options :

Dog-Cow

308) -e35Y)

1. 8

Apple- Pomegranate

. ODS- R



Rose- Throne

L, e -50%,

Pigeon- Parrot

i o) B0- Dend

4.

Question Number : 28 Question Id : 7473901929 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Sequence and series 0G0 Ho8adn Fraew
Odd thing Out 2BY’VIE 8ot

Find the odd thing out from the following

& $o8 AN DTS’ POV ocsod
Options :

| x 27

2.

3.

Question Number : 29 Question Id : 7473901930 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Sequence and series 0G0 Ho8adn Fraew
Odd thing Out 2BY’VIE 8ot

Find the odd thing out from the following

& $08 AN DTS’ BTG Docsod
Options :

. Dog — $08),

1.

Fish — 2
R4



, » Elephant — DD

Lion - o000

Question Number : 30 Question Id : 7473901931 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Sequence and series e DG SHo8aiy Fraven
Odd thing Out 2BY’VIE 8oL

Find the odd thing out from the following

& S0t FD\D DD TS’ DEJVIG HBoS0d

Options :

- Nephew — 3300

Son — ¢ %0
2. ®
Son-in-law - e9e¢d
3.¢ G
e Grand — daughter — &0R:50°e0
Is Section Default? : null

Question Number : 31 Question Id : 7473901932 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Sequence and series 29GSR QB3 Frwew
Missing Number/ Terms = &2y Dogfen / Hoven

Note: The following question follows a definite pattern. Observe the same and fill in
the blank with suitable answer.

AR $06 AN D) 208 DOBND Jaharen FSWod e Ao Ay
(3300 BADD VATEHS 3P $8ociod.

STUDY : KNOWLEDGE : : WORK:

Options :
RESULT

1. 8



EXAMINATION

2.8

EXPERIENCE
3.

, « COOPERATION

Question Number : 32 Question Id : 7473901933 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Sequence and series 29D 603D Brew
Missing Number/ Terms &3 Ddogdfen / H3wew

Note: The following question follows a definite pattern. Observe the same and fill in
the blank with suitable answer.

Arsd: §o6 AND D) 8 DSBS DDA FBR006 .23 IoDLATY
$0D0D) DBTDD DATTHoS DD PBoSod.

20,20 17,17, 14 14 11. ; , What numbers should come next?
20,20 17,17, 14,14, 11,. , BEIDG THVD DoRE.

Options :
11

1. # ’

<,

9,11

2.8

8.11

3 08

Lo 11,8

Question Number : 33 Question Id : 7473901934 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Sequence and series 29GAT) HBA3L Fraew
Missing Number/ Terms =~ &2y Rdogfen / Hoven

Note: The following question follows a definite pattern. Observe the same and fill in
the blank with suitable answer.

AFSD: §os ADYVO D) 28 PDYSRD JaDaren FBR0E &3 JADATIY
(3300 PBADD VDATEHS 37°PD P8ocsod.

A 1P,
Options :
1. % U

V

2. &

3. % X

v Y

Question Number : 34 Question Id : 7473901935 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Sequence and series 29DGATe0 S8a3L Feavew
Missing Number/ Terms = &2y Ddogdjen / Horen

Note: The following question follows a definite pattern. Observe the same and fill in
the blank with suitable answer.

Aresd: §o6 ADND 0B) 28 DB JaATL FOWd .08 DoDITI)
530D00) DOTDD VATFT oS 37V LFBodols.

Look at this series: 31, 29, 24, 22, 17, What number should come next?
& 33D Torod: 31,29, 24,22, 17 ST (S @ 2oy oraord)?
Options :
1. 15
14

2.8



an 12

Question Number : 35 Question Id : 7473901936 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Sequence and series 2908070 AB03L FrEW
Missing Number/ Terms &3 Rdogdfen / Horew
Note: The following question follows a definite pattern. Observe the same and fill in

the blank with suitable answer.

ATesd: §o6 AN D) 28 HDVBEDN 0T TS .28 DoDITI)
(330D0t) HBADD VAT oS 3779 QrBotdol.

Look at this series: 70, 71, 76, . 81, 86, 70, 91, What number should fill the
blank?
& 33D Arctods 70, 71,76, . 81,86,70.91, Jc\'JOaJES a9 HyYBod?

Options :

L 70

, % 11

5 » 80

4% 90

Question Number : 36 Question Id : 7473901937 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Sequence and series eGP Sodainy Frwew
Missing Number/ Terms = &2y Ddogdjen / Hoen

Note: The following question follows a definite pattern. Observe the same and fill in
the blank with suitable answer.

QAreSd: Sotd AN DF) 8 DS JaDATen FBWS &5 JADATY
(3300 PBAND VATEDS 3PP rBociod.

1L235813. .34
Options :
L s 24

, v 21

. 25

27

4.%

Question Number : 37 Question Id : 7473901938 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Sequence and series eGP SBa3L Fraen
Missing Number/ Terms = &2y Dogjen / doren

Note: The following question follows a definite pattern. Observe the same and fill in
the blank with suitable answer.

AUPeSR): $06 FENA D) 208 DONBND Jahaoren B0 &9 Aoy
(3300) PBIND DATTEDS 8PP rdociod.

710,811, 9. 12, ;

Options :
1. 8 _.J"



Question Number : 38 Question Id : 7473901939 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Sequence and series e DGATr e SoBasL Frew
Missing Number/ Terms &3y Road{en / dtwen

Note: The following question follows a definite pattern. Observe the same and fill in
the blank with suitable answer.

RS $06 AUNA DF) 28 DONBD DaDrren JF R0 &9 Aoy
(1200 DBIDD PIFTHoS 877V rdocol.

2.8,14, 20,26, 32, 38,

Options :

1.

2.

2. 46
®

44, 50

o

42,48
3. %

4.

. 40,42

Question Number : 39 Question Id : 7473901940 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Sequence and series eGP SuBasw Frew
Missing Number/ Terms &2y Dogdgen / deen

Note: The following question follows a definite pattern. Observe the same and fill in
the blank with suitable answer.

ArEsDd: S0 ADND 0B 28 PDYBROD Jaadaren IRV .3 DAY
(52000) POTR VAT DS 877D Frdotiol.

664, 332, 340, 170. . 89,

Options :

1.

2.

85

®

o

®



109

38

v 178

Question Number : 40 Question Id : 7473901941 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Sequence and series 290G, H8aiy Fraew
Missing Number/ Terms &y Ddoadfen / dorew

Note: The following question follows a definite pattern. Observe the same and fill in
the blank with suitable answer.

Aresd: §os AN DI 28 HDVBRD DDA TS &3 IaLHATI)
(52008) PO PAFTH0S 7P PBodod.

12.3.4.30.5.6; 1B
Options :

w48

Question Number : 41 Question Id : 7473901942 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Sequence and series 2908507 S0803L Fradew
Missing Number/ Terms &3 Roadjen / Horew

Note: The following question follows a definite pattern. Observe the same and fill in
the blank with suitable answer.

ATesd: $o8 ADND DB 28 PDVBRD Jabaaren J RV .03 JoDATY
H0Dod) DBADD VAT DS TP QrBotIol.

136, 100, 75, , 50, 46, 45

Options :



Question Number : 42 Question Id : 7473901943 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Sequence and series eGP 0803w Fraen
Missing Number/ Terms &2y Dogfen / Hryen

Note: The following question follows a definite pattern. Observe the same and fill in
the blank with suitable answer.

AresR: 06 FENR D) 208 DSBS Jahadoren TSR0 &3 Aoy
(3000) DETDD PIFT DS 87V Prdodod.

TN
24 3
Options :
1
- 16
i B
16
2.¢
|
3 % 64
4.8 8

Question Number : 43 Question Id : 7473901944 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Coding and Decoding Questions &cdof 20803 G Eoh SNUSICY
Code Pattern §& dororen
Note:

The following question uses a different coding pattern. |dentify the pattern and answer

the question.

RAP3d: - S0 AN 0F) D DD Edof SArToen GHMIATER. €8 DAWPT VD
(8o 0F) DO VATV '9&550{3.

ROUGH 1s written as ORRIJE. how will you write SMOOTH?

ROUGH & ORRJE @ T&, Q3 SMOOTH 9 der oo E?

Options :

. . PPLLOK

PPLRQK

2. %

. » PILLOK

, » PPRRKK

Question Number : 44 Question Id : 7473901945 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Coding and Decoding Questions &dof &8a3w G Eoh SRUSICY
Code Pattern §& ddoraren

Note: - The following question uses a different coding pattern. Identify the pattern and

answer the question.

QArSD: - Sob @rﬁa&) D) D DI EC0A AATTeD EDBTATTRD. €8 DT O
(8o ;’g«“o'ls.) VAFrTEO0 ':5;;‘)50&.
If HYDERABAD is coded as OFKLYHIHK then VITAYAWADA is coded as

2,8 3% HYDERABAD & OFKLYHIHK 1+ §& B , VITAYAWADA G308),
)

Options :
CPQKQIMAML

1. 8

CPQHFHDHKH
2.¢¥
. CPQHIMIMAR

CPQRAMIJKHI

4.%

Question Number : 45 Question Id : 7473901946 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Coding and Decoding Questions §Gof 208050 G Eoh NIV
Code Pattern §& dauraren

Note:

The following question use a different coding pattern. Identify the pattern and answer

the question.

A0PH: - Sobd 'arf.’)asé %) D DY ER0A AATTeD ENATATH. 3 DITT O
mgo{) Qél&b RATT°0 @bsoci.

"IMPLORE" is coded as "GKNJMPC *, then how will " HUB” be coded as?
"IMPLORE" 938"GKNJMPC"m §& Sabedd, "HUB" der §& BSabecetod?

Options :

., Fsz

, » TEY
s« AWN
4 » WAO

Is Section Default? : null

Question Id : 7473901947 Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (46 to 48)



Coding and Decoding Problems: ~ §dof 2080t GEdoh e
Code Pattern: EE& Sdroeen
Note:

The following questions use a definite coding pattern. Identify the pattern and answer the

questions from 46 to 48.
[SbATSE

£08 AN 08) 05" PONBD E'E0A HAWPT R EHOTAEEE. €8 HAPTE (18D
46 Q00C 48 HBD N DF) VD wTE BO(0C:

Sub questions

Question Number : 46 Question Id : 7473901948 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Note: Each n'® letter in English alphabet is coded as (n+10)® (Modulo 26) letter. Reverse
process 1s used for decoding. Using this coding and decoding process, answer the
question.

es0() 9E63T0 &5°D OA n B Lo (n+10) (modulo 26) S ewgdorr §&
0580008, A8 G0 et DES DA HoeTtd. & §&oh, A8 Goh DESOR
00" o) HF) SO 2Te FO(C:.

RIVER 1is coded as
RIVER %0 §°&

Options :

.~ BSFOB

, . BSFPB
.« BSTOC

, « BSTOC

Question Number : 47 Question Id : 7473901949 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Note:

Each n' letter in English alphabet is coded as (n+10)® (Modulus 26) letter. Reverse
process is used for decoding. Using this coding and decoding process, answer the
question.

e20] @EBITL &5°D HA n D @ESo (n+10) (modulo 26) S wEdorr §&
BaBeacd08. A8 R0 DeS’ DES SO Homrdd & §¢oh,
GEGoh DGBLVR GDArACD HF) L RIED QDS

In a certamn code language CORRESPONDENCE 1s written as NUTTRAXUPQRPNR
then what will be the code of SCOPE

DOA §& 2372 CORRESPONDENCE & NUTTRAXUPQRPNR €99 T°2363, €953
€86 23T S SCOPE & e T,

Options :

AUXNR
1. %

ANUSR
2. %

RNUXA

3. %

, » XUPAR

Question Number : 48 Question Id : 7473901950 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

If Y=50 and CAT= 48 then BALL will be equal to
Y=50 500050 CAT= 48 @900& BALL § J37SDOE

Options :

64

1. 8

) v 54
45

L% 98
Is Section Default? : null

Question Id : 7473901951 Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (49 to 51)



Problem solving: R20R DO, Bo
Sequence and series: 0908 550°e 0803 Fraew
Analogies - B e

Note: - In each of the following questions from 49 to 51 a sequence of numbers or letters that
follow a definite pattern 1s given. Each question has a blank space. This has fo be filled with
the correct answer from the four given answers to complete the sequence without breaking
pattern.

A - S0 AN DA VI 49 ok 51 e5° PN Do T, VLT T ws
SRGDD JLPTR) FEWTY 0. VS VF) &5°D a9 FOND TR DONSO ok

DEODA 2T°LD &)éalg Q 98 AoATAS Forfo SIS0 PBotiod:.

Sub questions

Question Number : 49 Question Id : 7473901952 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

1,3,6. 10,15, 21,

Options :

4% 29

Question Number : 50 Question Id : 7473901953 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

6,8,11,15,
Options :
Lx 19

2 v 20

~:
; 8 21

22

4.%

Question Number : 51 Question Id : 7473901954 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

DEF, HIJ, MNO, ;
Options :

SUT

1. ®



RST

2. &

STU
3.

TSU

4. ®
Is Section Default? : null

Question Id : 7473901955 Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (52 to 55)

Date, Time and Arrangement problems:
B8, DAo%o 8oL WS R0RVJ:

Note : - The following questions from 52 to 55 are related to date, time and arrangement

problems

ArSd: - S0 ‘E)i'.)().‘\‘) 52 &oé 55 H8D 2B)en A, HA030 S8t evAdse "roo‘.ufoﬁm
20830H00)ND.

Sub questions
Question Number : 52 Question Id : 7473901956 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

A clock strikes once at one hour, twice at 2 hours and so on. What are total number of

strikes 1n a day?

2.8 RS0 2.8 §oeddy 2,30, Botd HoLrerd Dot . Qe
SrHen0d. 2.8 F22S’ I D) A IrHesod?

Options :

w132

, o 156

144

4. %

Question Number : 53 Question Id : 7473901957 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



If + means X, - Means +. X means +. then the value of 10+4-16X5 1s

+ @0 X @), - 0T + @A), X @0 + e9Q), 0N, 10+4-16X5 a)eND
0)OEd?

Options :

36—
.

1.

45=

i3
5

Question Number : 54 Question Id : 7473901958 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

If 1995 May 10% is Wednesday then 1996 May 7% will be...?
1995 33 105 B 20°30 €9003 1996 33 765 BE EO?

Options :
Friday

. DHEG0

Monday

, & Fardo

Tuesday

. NVelal2 N NeTe)

Wednesday

2000

4.%

Question Number : 55 Question Id : 7473901959 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



A Train for New Delhi leaves every two and a half hours from Patna Railway Station. An
announcement was made at the station that the train for New Delhi had left 40 minutes
ago and the next train will leave at 6.00 pm. At what time was the announcement
made.
ey BT DD ol Arf S Tew DO GotdD) 8 HovK) LOENEENIE.
mééi)é D¢y Gew 40 DT A0t £03eNB80G), NS Gew Jradogio 6.00
(o)  OHNBHAGEY VDS DILD Jenddod. D DIADS’ DSWD

BoDRGIE?
Options :

v 410 pm

5.15 pm

2.8

- 3.30 pm

e 3.15 pm

Is Section Default? : null

Question Id : 7473901960 Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (56 to 60)



Problem solving : ced§ s)Oax. S0
Data Analysis : (&°04 3)73;189

Bar Diagram or Pie chart : 25°0 (T S 2 (€50

Note:
The population of a town 1s 40000. Its various professions are represented by the pie ¢

given below. Study the chart carefully and answer questions from 56 to 60.
WS Do cdg) a7z 40000. o7 DDG Hdoew Sod RDIWED P T T

ArAotrdd. TPHR 2ESTT G0N0 BV 56-60 D) VL DIFTT W VD0

Employment .
BT
14%

Agriculture
S 5o
oo

35%

Students
orshen
10%

Sub questions

Question Number : 56 Question Id : 7473901961 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The number of people in the industry is
ROV’ &55), 6 HoWS

Options :

|« 8400

- 11600

L« 8000

4 % 7200



Question Number : 57 Question Id : 7473901962 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

How many more people are involved in transportation than in trade?
HES0 &° 083 BoETeS” Dot Mod Iy H &I B?

Options :

. 1680
L« 1750
L« 1800

4 v 1600

Question Number : 58 Question Id : 7473901963 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The ratio between the number of people in trade and that in transportation is
SBSo H08asn Farraes” DLV Vo G VB

Options :

3. & 12

4. % 2:1

Question Number : 59 Question Id : 7473901964 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The total number of people in Employment, Transportation and trade 1s
D, BT 208k TRGe Ao SR Voady

Options :

. 10400
. 16400

15800

3 8

. » 14800

Question Number : 60 Question Id : 7473901965 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

What 1s the sectorial angle made by the people imnvolved in employment in the given pie

-chart?

& 20 Ho S° DI &) T 60D DEBADS & E'tao Dod?



Options :

84.8°
86°

840

86.4°
4. ¥

Is Section Default? : null

Question Id : 7473901966 Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (61 to 65)



Problem solving : 0§ 00X B0
Data Analysis : &0 D30

Table or Graph H¢38 S (7D

Study the following table carefully and answer questions from 61 to 65. It consists of breakup of
expenses of a company over different years.

$08 DY 2rESTT eesodo Bodot LoBain 61 ol 65 HBF) VD VATET YDl DG
DoBHTY" 00N PENL DR & 08 DOSS® HE) Iwdod.

Items of expenditure Rs (in lakhs)
Dy SR & (L)
Year Salary Fuel and Bonus | Intereston Taxes
Transport Loans
RodSJo Eo 85° 3
Qoo Sorrep S
“ Dyew
0803 daee
1998 288 98 3.00 324 83
1999 342 112 2.52 32.5 108
2000 324 101 3.84 41.6 74
2001 336 133 3.68 36.4 88
2002 420 142 3.96 49.4 98

Sub questions

Question Number : 61 Question Id : 7473901967 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

What 1s the average amount of interest per year for which the company has to pay
during this period?
8 57008 20DBYT"IS S0 DY DYD VLD DG Doh?

Options :

« Rs32.43lakhs - & 324308 €D



, « Rs33.72lakhs - &0~ 3372 @80

Rs.34.18 lakhs - &= 34.18 8 e

3.8

Rs.38.46 lakhs - . 38.46 @& en

Question Number : 62 Question Id : 7473901968 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The total amount of bonus paid by the company during the given period is
approximately what per cent of the total amount of salary paid during this period?

'Qt:)t)é ;55;5(566 o2 Do 5" Awdho & 5w Do o Ee90e5° Doch

Fho Gotobdd?
Options :

0.1%

1. 8

, » 0.5%

0
3'\_71.0

1.25%

4.%

Question Number : 63 Question Id : 7473901969 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Total expenditure on all items 1n 1998 was approximately what per cent of the total
expenditure i 20027

199865 & 9070 03 BV Ao Byao 200265 Ao HIoHES” TTEY Dot

Fo¢Ho?

Options :

Question Number : 64 Question Id : 7473901970 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



The total expenditure of the company over the items during year 2000 1s

2000 50565 IB06” HeNHOD 0D TS Bwebo S
Options :
Rs.544.44 lakhs
v Rs.544.44008 ex

Rs.501.11 lakhs
L Rs.501.11 ©8 en

— A

Rs.446.46 lakhs
Rs.446.46 e>§.en

3. % o

Rs.478.87 lakhs
, » Rs47887 ©§en

Question Number : 65 Question Id : 7473901971 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The ratio between the total expenditure on taxes for all the years and total expenditure
on fuel and transport for all the years, respectively is approximately

€90 RVoJHNT-VL DAY U BAD Ao H{ode 0B0KD ©) NVODSYT VL RoBdo

080D BTrErad Dwdo Sjado G DD ST ET.
Options :

4:7
1. 8

L 10:13

5 u 15518

h

4 %908

Is Section Default? : null

Question Number : 66 Question Id : 7473901972 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Date, Time, and Arrangements problems &, Ha00HO HBOIN 9085 HaDD5EN

Akhil, Amala, Somu and Naga have two pets each. One of them does not have a puppy.
Amala 1s the only person to have a Cat. Naga has a puppy. Akhil and Amala have
Rabbits. Rabbit and Tortoise do not belong to a single person. Tortoise is pet of one
person. Who has the Tortoise as a Pet?

o5, 09500, DA, QBa3L T e’ HA a;SgJBé B0t osDE 2oteNRD &I .
TS’ 2,888 oo DYDY T, DY WO GG LB God. T SHB LY, DY
God. 09D, e © {ﬁgd STl &™) Q. 060D TRERD Go&r S D96 Sla

o). TPEIRD 2050 DoNED 20D, TP DA DoINED 2odhIa)?
Options :
Naga ~°(9
1. ¢

, = Akhil @3

. Amala @0
3,

4 % Somu &Pl

Question Number : 67 Question Id : 7473901973 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Date, Time and Arrangements problems 38, ddvoie 805w 8w DA

How many number of odd days in first 400 years?
20658 400 DoBST0ES" I 83D Doy Taren &) aw?
Options :

1.%1



Question Number : 68 Question Id : 7473901974 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Date, Time and Arrangements problems S&, DeDONO OGN ©s0BEE He0DEN

A student came to his school 40 minutes late at 10:55 am on Friday. Next day he started
early and reached his school 25 minutes before the scheduled time. Then the time of his
arrival at school on Saturday 1s ?

B0g60 Berd & Do SO FBToD 40 D Qiren e oo 10.55
oty sHd :}G"ad.). 060 B eochdd ejsdn" FrGodow), Dgé RO 25 drw

500 B T ETRL WBELDHT . 29D SR 3JT°Co FETOL STy DSOOI?
Options :
9.50 am

10 am
2. %

9.45 am
3.

10.10 am

4.%

Question Number : 69 Question Id : 7473901975 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Date, Time and Arrangements problems &8, 2s00do, S80k esdse BVIRD

Two buses arrived at a bus station at 12.15 p.m. and 12.48 p.m. with a late of 30 minutes
and 50 minutes respectively. The difference of time (in minutes) between their
scheduled arrivals at the bus station is.

208 R VA0 D 0oy o 12.15 0% Bo& R0y TP 0 12.48 0D DT°QW.

Gotd IRV HERTT 30 DAwarew, 50 Ddwaren RS TT SoPow. 8 QDD

02 X0\ DG T DAL L] HjEeio Dreres’.

Options :

14

1. ®

v I8

308 16



19

Question Number : 70 Question Id : 7473901976 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Date, Time and Arrangements problems &&, 2o, 080w edu8se DV

Number of hours and minutes from 6: 14 am to 8: 02 pm on the same days 1s

2,8 Bard &6odo 6 Hobe 14 WAL od T°Q 8 Hotow 02 NNV HELH

G0t (032D 803D Ddarew.
Options :

e 2 hand 12 min -2 A0 12 Qaddolen

. 12 hand 16 min -12 (0O 16 DaaleD

v 13 h and 48 min - 13 A0&>eD 48 Dadare)

L 14 h and 16 min - 14 50D 16 Qadal )

Question Number : 71 Question Id : 7473901977 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Date, Time and Arrangements problems &8, duofe So8ain evsndse DR

Today 1s Monday. What will be the day after 64 days?
&8 F0T°Co. 64 Bere ST(S @ Fer Hod?
Options :

Saturday 43" G0

| ®

, Friday — DIETS0
2.

Thursday — (O S03°$0
3 8

, » Tuesday — INWelat> v ilele

Question Number : 72 Question Id : 7473901978 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Date, Time and Arrangements problems &8, oo So8ain s DR

A gir]l mtroduced a boy as the son of' the daughter of the father of her uncle. The boy
1s girl's
20 €9355°2000 €805 TIITD 50| $reddd SO £, €925°)aNA) HOTHADO

DVOE). €923°H0N €9:35°200 A3NE),
Options :

Brother — &G0

1.¥

Son — §¢HEY
. Uncle — o000 §

Son-in-Law — €9€0C

Question Number : 73 Question Id : 7473901979 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Date, Time and Arrangements problems &6, s0AHO SOOI @s0BEE H50O5EN

If “+’ means ‘x’. ’x’ means ‘-*, ‘-‘means ‘=", ‘=" means ‘+’, Then find the value of 18
—5 il Bi=200
4+ @S, X7, "X @I, ¢, “-@OT ), =’ T 4+, @OoNe 18-3+2x8

+2 e §8% 065%7?

Options :

1.¢ 2

Question Number : 74 Question Id : 7473901980 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Date, Time and Arrangements problems ¢, s0GN0 0O €085 HaDDLEN

A father 1s twice as old as his daughter. If 20 years ago, the age of the father was 10

times than the age of the daughter. what 1s the present age of the father?

2,8 0B 6 E055°0 0T BEI0DY) HODM ) 20 .08 yore> (8eb0, 50
2SO ) BT 25GD) E0BD 10 BEY GOBY, @Y )C S0 A
0ed?

Options :

40 years - 4000¢5 )TN

32 years - 32c00a3€5 Y0P

2.8

, 33 years- 3300:9¢5 Yo e
3.

45 years - 4500060365307
4.

Question Number : 75 Question Id : 7473901981 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Date, Time and Arrangements problems &), DsDANO s0BAD @sDBEE DTN

There are five friends A, B. D and E. Among them B is taller than A. B is just as tall

as D, but taller than E. Then who 1s the shortest among them?

A, B ,D 08ain E b folﬁj"e_’s.)w T°8e5°A Soé3 B Jéorh o7¢h. B 080w D

DATD A SVTW, 57 E BB S0 Fcorh T°¢. 090nd D0 T dHE?

Options :

I.QE

Communication Ability
Section Id : 74739029
Section Number : 2
Mandatory or Optional : Mandatory



Number of Questions : 54

Section Marks : 70
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0

Is Section Default? : null

Question Number : 76 Question Id : 7473901982 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Fill in the blank with appropriate word:

The flight was cancelled owing to weather.
Options :

- Clear
Salubrious

- Fine

A Inclement

Question Number : 77 Question Id : 7473901983 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Fill in the blank with appropriate word:

They met with many ups and in their long career.

Options :

|« Downs
_— Curves

; » Blows

o Taunts

Question Number : 78 Question Id : 7473901984 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Fill in the blank with appropriate word:

They say that there is always a slip between the cup and the :
Options :

Dip

1. ¥



Hip

2.

S Slip

v Lip

Question Number : 79 Question Id : 7473901985 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Fill in the blank with appropriate word:

To make both meet is a task as prices grow up.

Options :
Trends

, » Kinds

, % Stands

, v Ends

Question Number : 80 Question Id : 7473901986 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the correct meaning:

Abhorrent
Options :
Agreeable

1. ¥

. Beautiful
2. %
Disgusting
v

Manageable

Question Number : 81 Question Id : 7473901987 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the correct meaning

Acclimatization

Options :



Discomfort

Adjustment
» 4
Rejection

« Resistance

Question Number : 82 Question Id : 7473901988 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the correct meaning:

Emancipation
Options :

Freedom
v
- Aarest
2. %
Elimination

L Safety

Question Number : 83 Question Id : 7473901989 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the correct meaning

Mutation:
Options :

~ Negation
L% S
, » Probe
Change

e Grade

Question Number : 84 Question Id : 7473901990 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Choose the correct meaning:

Malignant
Options :

Kind

- Generous

- Deceptive

Dangerous
4.4

Question Number : 85 Question Id : 7473901991 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the correct meaning:

Delinquent
Options :

~ Responsible
1. 4

Negligent
2.¢

Obedient

Offensive
4. %

Question Number : 86 Question Id : 7473901992 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the correct meaning:

Ostentatious
Options :

Pushing off
. *

Showing off

, » Pleasant



~ Stable
4 %

Question Number : 87 Question Id : 7473901993 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the antonym:

Narrow
Options :

Broad
1. %

~ Constricted
2. %
, » Controlled

, » Restricted

Question Number : 88 Question Id : 7473901994 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the antonym:

Pleasant
Options :
L Sickening

_ Encouraging
2 . b4 [ = [ -
Alluring

4w Sweet

Question Number : 89 Question Id : 7473901995 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the synonym:

Infancy

Options :

~ Childhood
1. ®

- Middle aged

2.8



Old age
3. W

, » Adulthood

Question Number : 90 Question Id : 7473901996 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the synonym:

Passionate
Options :
Involved

.- Impatient

Indifferent

, » Insensitive

Is Section Default? : null

Question Number : 91 Question Id : 7473901997 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the correct answer:

If it were not for buffers, computers would run

Options :

|« More efficiently

- With narrow screen space

; » Less efficiently

. With imnnumerable pop ups
4.

Question Number : 92 Question Id : 7473901998 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the correct answer:

What happens when you burn a disc?
Options :
- You erase data



You write data
2. W
You delete data

. You change the format of the existing data

Question Number : 93 Question Id : 7473901999 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the correct answer:

Cookies are to

Options :

Identify you when you visit a new website
1.¥

. Disqualify you from using that particular website
2.

3 % Cause system cra sh

. Install malware
4,

Question Number : 94 Question Id : 7473902000 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the correct answer:

Trojan horses in computer context are

Options :
From Greek mythology
1. %

Famous for horse power
2. %
5 Malware that mislead users

. Used in the game of chess
4.

Question Number : 95 Question Id : 7473902001 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the correct answer:

‘Freemium’is a/an to attract customers.



Options :

Lo Free content

Fake content

; » Funny content

L% Funded content

Question Number : 96 Question Id : 7473902002 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the correct answer:

A message for workers with updates is called as

Options :
| v Ping

~ Sling
2. % =

, » King

, » lang

Question Number : 97 Question Id : 7473902003 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the correct answer:

‘Boil the ocean’ in business terminology has come to mean as

Options :

Waste of time

. Proper use of time
2. %

\ % Perfect time management

, » Discussions on time management

Question Number : 98 Question Id : 7473902004 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Choose the correct answer:

Infographic makes
Options :

| » Visual representation

L Artistic presentation

. Makes information complex
3.

4, » Makes mformation totally understandable

Question Number : 99 Question Id : 7473902005 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the correct answer:

Liabilities along with owner’s equity go by the name of
Options :
- Income statement

, » Assets

, » Revenue

4% Net loss statement

Question Number : 100 Question Id : 7473902006 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the correct answer:

Synergy refers to

Options :

. Working separately
Working together
2. -
. Working irregularly

, » Not working at all



Question Number : 101 Question Id : 7473902007 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the correct answer:

Deep dive in business is nothing but issues.

Options :
Brainstorming

- Sleeping over

S Postponing

~ Cancelling
4. % =

Question Number : 102 Question Id : 7473902008 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the correct answer:

A server can be connected via a/an

Options :

Modem
, » Data Base
3 @ Network

r Floppy Disc

Question Number : 103 Question Id : 7473902009 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the correct answer:

GUI stands for

Options :

Graphical User Interface

S Graphical Utility Interface

s s Graphical Unity Interface



, » Graded Unity Interface

Question Number : 104 Question Id : 7473902010 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the correct answer:

The keyboard and the mouse are

Options :

| Input devices

. Output devices
s s Conversion devices

Punch card readers
4. w

Question Number : 105 Question Id : 7473902011 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the correct answer:

Integrated circuit is a/an

Options :
= Bandwidth

, » Cursor

s Microchip
L Surf

Is Section Default? : null

Question Number : 106 Question Id : 7473902012 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Fill in the blank with the correct word:

The armed forces of the enemy had to lay their arms.
Options :

Down
1. ¢



Up

2. %

S Above

Of

4. %

Question Number : 107 Question Id : 7473902013 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Fill in the blank with the correct word:

Their success in the of strong opposition was really commendable.

Options :

1. ® Belt

, « Face

; = INose

4 % Leg

Question Number : 108 Question Id : 7473902014 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Fill in the blank with the correct word:

But for her timely intervention, we in trouble.
Options :

.« Would have

-~ Would have been

; » Would been

4, » Would have be

Question Number : 109 Question Id : 7473902015 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Fill in the blank with the correct word:

Not many trees are as tall the Norwegian pine.



Options :

As

1. v

, % 10

3% DY

4 % at

Question Number : 110 Question Id : 7473902016 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Fill in the blank by choosing appropriate preposition:

We were impatient the unexpected delay.
Options :
= For

At

2. %

. » With

To

4. %

Question Number : 111 Question Id : 7473902017 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the appropriate answer:

I’ve never loved anyone you.
Options :
, = From
Besides
v
, « Beside

, » Beyond

Question Number : 112 Question Id : 7473902018 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Put a question tag.

She likes dancing,
Options :

Doesn’t she?
1.«

Is she?
Hasn’t she?

Does she?
4. %

Question Number : 113 Question Id : 7473902019 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Fill in the blank by choosing the appropriate answer:

He always at the Gate Way Hotel when he is in the city.
Options :

| = Stepsin
, » Putsup

s Takes on

L% Get nto

Question Number : 114 Question Id : 7473902020 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Fill in the blank by choosing the appropriate answer:

I am not familiar the works of William Shakespeare.
Options :

., With

; » lowards



4« Of

Question Number : 115 Question Id : 7473902021 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response

Time : N.A Think Time : N.A Minimum Instruction Time : 0

Fill in the blank by choosing the appropriate answer:

This table is made ------- good solid teak
Options :

, » From

, % With

Oft

4. %
Question Number : 116 Question Id : 7473902022 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Fill in the blank by choosing the appropriate answer:

I was completely ignorant his intentions.
Options :

1. » With

2. % To

Of

3.¢

By

4. %

Question Number : 117 Question Id : 7473902023 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Fill in the blank by choosing the appropriate answer:

He was renowned ----————-—-- his knowledge of Greek philosophy.
Options :
|« BY
For

2. ¢



.« With

Of

Question Number : 118 Question Id : 7473902024 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Fill in the blank by choosing the appropriate preposition:

I am not liable ---———-——-my son’s debts.

Options :
| For

L« Of

;% L0

, » About

Question Number : 119 Question Id : 7473902025 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Fill in the blank by choosing the appropriate preposition:

The company has decided to dispense his services.
Options :

% Of

By

2. %
5 & For

4 » With

Question Number : 120 Question Id : 7473902026 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Fill in the blank by choosing the appropriate preposition:

He betrayed the confidence reposed him

Options :

On

1. %



Z'JIll

Question Number : 121 Question Id : 7473902027 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Fill in the blank by choosing the appropriate preposition:

In past centuries most young soldiers were zealous---------fame and honour
Options :

Of

1.

, » For

Off

3. %

4 » With

Question Number : 122 Question Id : 7473902028 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Fill in the blank by choosing the appropriate answer:

Wise men welcome advice, -—------——- fools scorn it.
Options :

So That

1. ®

~ When
2. %

That

3. 8

A Where as

Question Number : 123 Question Id : 7473902029 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Fill in the blank by choosing the appropriate answer:

The earth moves —————- the sun



Options :

L w Round

- Around
; « Along

4 x Across

Question Number : 124 Question Id : 7473902030 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Change the voice:

She congratulated him on his success in the examination
Options :

He was congratulated her on his success in the examination
. ®

He was congratulate on his success in the examination by her
2. ®

He was congratulated on his success i the examination by her
3.¢ i

L w He was congratulated at his success in the examination by her

Question Number : 125 Question Id : 7473902031 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Change into indirect speech:

The manager said to the clerk, “Don’t do any mistake while counting currency.”

Options :

The manager ordered the clerk that not to do any mistake while counting the currency.

The manager ordered the clerk not to do any mistake while counting the currency.
2.

The manager orders the clerk that not to do any mistake while counting the currency.
3. %

The manager ordered not to do any mistake while counting the currency.
4. %

Is Section Default? : null



Question Id : 7473902032 Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (126 to 130)

Read the following Passage and answer the Questions (126 to 130) given below:
A young man wrote to me the other day lamenting his ignorance and

requesting me to tell him what books to read and what to do in order to become
learned and wise. But I confess that the more I thought of the matter the less assured
I felt of my competence for the task. I ceased to be flattered by the implied tribute
to my ommiscience. As I contrasted the mountain of things I didn’t know with the
molehill of things I did know, my self-esteem shrank to zero. Why, my dear young
sir, thought I. T cannot pay two pence in the pound. I am nothing but the possessor
of a widespread ignorance. And the books I haven’t read, and the sciences I do not
know, and the languages I don’t speak, and the things I can’t do ---young man, if
you know all this you would be amazed. But it does not make me unhappy. On the
contrary I find myself growing cheerful in the contemplation of these vast and
undeveloped estates. Someday I will know about all these things. I will develop all
the immensities; [ will search all these mysteries. In my heart I know I shall do
nothing of this sort.
Sub questions

Question Number : 126 Question Id : 7473902033 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The ignorant young man was

Options :
. % Triumphant

, » Contented

3« Sorry

e Happy

Question Number : 127 Question Id : 7473902034 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The young man’s confidence in the author’s knowledge the latter.
Options :
L Shocked



, » Pleased
3« Flattered

_ Convinced
4. %

Question Number : 128 Question Id : 7473902035 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The author’s knowledge was as as a molehill.

Options :
Large

- Small

. Massive

, =« Confused

Question Number : 129 Question Id : 7473902036 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The author takes his for granted.

Options :

L v Ignorance

~ Knowledge
2. % =
, » Competence

.« Skill

Question Number : 130 Question Id : 7473902037 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

‘Undeveloped estates’ in the passage implies branches of knowledge with
which the author is

Options :
. Familiar
1. #
Unacquainted

2. ¢

. Comfortable

~ Friendly
4. 8 <



Is Section Default? : null

Question Id : 7473902038 Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (131 to 135)

Read the following Passage and answer the Questions (131-135) given below:

The modem office is a carnival of distracting multitasking demands. While you
diligently try to complete a project. someone has a coughing fit in a nearby cubicle
and asks if you have a lozenge. The office paging system continually calls out
messages that anyone within earshot of an intercom hears. You're alerted around
the clock to new e-mails arriving in your inbox while your social media newsfeed
keeps trving to catch your eye and vour cell phone mtermittently vibrates on the
desk to the tune of a new text. A stack of unopened mail and piles of unfinished
work sit within sight as people keep swinging by your desk all day to ask you
questions — Distraction? Disturbance? Disruption? Stayimg on task is exhausting.
Researchers estimate that workers are interrupted every 11 minutes and then spend
almost a third of their day recovering from these distractions. And yet amid all of
this we still assume we can rise above it and do what has to be done within our

deadlines.

But we’re fooling ourselves. Multitasking 1s a scam. Poet laureate Billy Collins
summed it up well: “We call it multitasking, which makes it sound like an ability to
do lots of things at the same time. . . . A Buddhist would call this monkey mind.”
We think we’re mastering multitasking, but we’re just driving ourselves bananas.

Sub questions

Question Number : 131 Question Id : 7473902039 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Why does the author say the modern office looks like a public celebration?
Options :

. Some are involved in completing their projects
1.

L The office paging system intermittently calls out messages
People keep swinging

All round distraction
4.

Question Number : 132 Question Id : 7473902040 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



How much time do the employees require to recover from all the distractions?
Options :
11 minutes per hour

. A third of working hours
2. ¢

s They continue to work, hence there 1s no need of recovery time

Half of the office time

Question Number : 133 Question Id : 7473902041 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

What do you mean by the word “scam™?
Options :

- Bargam

Sincerity in dealings
, » Donations

v A deceptive scheme

Question Number : 134 Question Id : 7473902042 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

What is multitasking according to Buddhists?
Options :

L w Ability to do lots of things at the same time
- Monkey Mind
L Concentrating on a single task

, » Confidence to meet deadlines

Question Number : 135 Question Id : 7473902043 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Explain the expression “driving ourselves bananas”.
Options :

Going to banana plantation
1%

Mastering our minds



Driving ourselves crazy

Taking counseling for stress relief

Is Section Default? : null

Question Id : 7473902044 Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (136 to 140)

Read the following Passage and answer the Questions (136 to 140) given below:

The night was cold and dark. There was great storm. thunder and lightning
also. Most men and animals. adequately protected. were asleep in their homes. They
were warm and happy. But some monkeys were running through the forest. They
had no warm home and there was cold. Worried monkeys looked everywhere for
shelter. They had almost resigned themselves to be flattened out by the cold
suddenly they saw some firetlies. Now. fireflies have a light in their tails, as all or
children know. The monkeys took the light for fire. Poor things, they did not know

any better. They said, “We will go near the fire and warm ourselves”.

There was a flock of birds in a tree nearby. One bird had a kind heart. and it felt
sorry for the monkeys. It called out, “That 1s not fire, my friends! Those are
firetlies. They give no heat. If is futile to run after them”. The monkeys got furious.
Their rage knew no bounds. They did not thank the bird. One monkey said rudely.
“it 1s so? We do not want unsolicited advice. I will teach you to say there 1s no fire”.
He jumped up the tree and pulled the poor bird out its nest. “Alas!” said the poor
bird, “Why did I try to help a fool?”

Sub questions

Question Number : 136 Question Id : 7473902045 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The monkeys were running through the forest because
Options :

. They were in search of food.
L Monkeys like running about.

They were in search of warmth.
3. ¥



L They wanted to kill birds and eat them away.

Question Number : 137 Question Id : 7473902046 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Why were the monkeys angry?

Options :
. The birds spoke to the monkeys rudely.

- The monkeys did not like the advice of the bird.

The monkeys were egoistic.
3 8

e It was very cold and they could not find a warm place.

Question Number : 138 Question Id : 7473902047 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

What happened finally to the bird?
Options :
.« The bird flew away from the tree.

The bird was killed by the monkey.
; » The bird managed to escape from monkey’s hold.

v The bird was pulled out of its nest

Question Number : 139 Question Id : 7473902048 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is not true in the context of the passage?
Options :
- The night was cold and dark

The bird had a kind heart

2. %

s Fireflies have a light in their tails.

4 » Most of the monkeys were in search of food.

Question Number : 140 Question Id : 7473902049 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

What did the monkeys see in the jungle?
Options :



The monkeys saw the bird in a tree.
1. 8

, » The monkeys saw fire in the wood.

. The monkeys saw some warm place to rest in the jungle.

A The monkeys saw fireflies i the jungle.

Is Section Default? : null

Question Id : 7473902050 Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (141 to 145)

Read the following Passage and answer the Questions (141 to 145) given below:

Science 1s a way of thinking much more than it i1s a body of knowledge. Its
goal 1s to find out how the world works? To seek what regularities there may be to
penetrate to the connections of things- from sub nuclear particles, which may be the
constituents of all matter, to living organisms, the human social community and
thence to the cosmos as a whole. Our nfuition 1s by no means an infallible guide.
Our perceptions may be distorted by training and prejudice or merely because of the
limitations of the sense organs. which, of course percerve directly but the small
fraction of the phenomena of the world. Even so straightforward a question as
whether in the absence of the friction a pound of lead falls faster than a gram of
fluff was answered incorrectly by Aristotle and almost everyone else before the
time of Galileo. Science 1s based on experiment, on a willingness to challenge old
dogma, on the openness to see the universe as it 1s really i1s. Accordingly, science
sometimes requires courage- at the very least the courage to question the

conventional wisdom.
Sub questions

Question Number : 141 Question Id : 7473902051 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

What is the goal of science?
Options :

It speaks about the world.

L It investigates the relation between the man and the world.



- It probes the regularities and relations between the man and the world.

It probes how does world work in relation to living organisms. the human society
P and the universe.

Question Number : 142 Question Id : 7473902052 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

What is intuition?
Options :

Ability

1. ®

Understanding without reason

, » Reason

[rrationality
4. ®

Question Number : 143 Question Id : 7473902053 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Our perceptions may be distorted because
Options :

. Of understanding
L Of broad thinking

of lack of training
3.¢

. Of infinite wisdom
4,

Question Number : 144 Question Id : 7473902054 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Aristotle’s declaration that a pound of lead falls faster than a feather, is
Options :
Incorrect
L4

, » lrue

, » Possible

, « Scientific



Question Number : 145 Question Id : 7473902055 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Science sometimes requires courage because. ..
Options :

., Experiments may be wrong
1.
It overthrows the established dogmas

J s It questions the existence of God

L% It questions the perception of man.
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Is Section Default? : null

Question Number : 146 Question Id : 7473902056 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Arithmetical Ability - @035 0050

3* -31=18, %% =

Options :

Question Number : 147 Question Id : 7473902057 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Arithmetical Ability - ©0%e3¢5 o050
Find the value of (10)°%°+ (10)'*¢
(10)%%° =+ (10)1¢ D3 SN0

Options :



.+ 10000

, « 1000
s 100

.« 100000

Question Number : 148 Question Id : 7473902058 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Arithmetical Ability - ©90%e3¢% 20050

It a* =b. b¥=c and xyz =1. then what is the value of ¢*?
a*=b, b¥ =c DO xyz =1, ONS ¢ VeV DOehH?

Options :

1w 8

2.331)

; « ab

a’b

Question Number : 149 Question Id : 7473902059 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Arithmetical Ability - @0%e3e¢s areds0
Ifa:b=3:5andb:c=4:7. thena:c=?

a:b=3:50005 b:c=4:7,900B a : ¢ =?
Options :
1135

d
h
e
—

[N ]
h
—
[ ]

L 12:3

hn

Question Number : 150 Question Id : 7473902060 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Arithmetical Ability - @0%5eded a0

0.8a=0.09b. = a:b="?



Options :

- 9:80

3:80

2.8

80:9

3 8

7:80

4.%

Question Number : 151 Question Id : 7473902061 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Arithmetical Ability - @0%(e3¢5 RPe0P50

A certain distance 1s covered at a certain speed. If half of this distance is covered

in double the time, the ratio of the two speeds 1s

2,8 DON A730 2.8 DDA KOS THZ0EN0H. &2 ArS0 &S HTR)
BOGBOS DNOHOES DHZ0T), BoB0E3 Brred DN

Options :

4:1
1.«

) % 1:4
5 u 2:1

on 12

Question Number : 152 Question Id : 7473902062 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Arithmetical Ability - ©085e3e¢5 e s0

In a school, the ratio of boys and girls 1s 4:5. When 100 girls leave the school,

the ratio becomes 6:7. How many boys are there in the school?

2,8 FEFTOS’, 2rend B0 erEe> DA 4:5. 100 06 erdEed
B30 DB I, DA 6:7 99000, €8 aFdFereS
05008 @923°)0NEY EOETRD?

Options :
|« 1800

, » 1200



.« 1000

, = 1500

Question Number : 153 Question Id : 7473902063 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Arithmetical Ability - ©05{e3ed arend50

The difference of two numbers i1s 1/9 of their sum. Their sum is 45. Find the

LCM
BOCH DO H5e°s00 ¢S DB0eS 1/9 o¢e3 Dwdo 45. & . K.
SIS0

Options :
225

1. 8
, » 100
L« 150

200

4.%

Question Number : 154 Question Id : 7473902064 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Arithmetical Ability - ©088e3e5 e0ds0

Three bells chime at intervals of 48, 60 and 90 min, respectively. If all the three
bells chime together at 10:00 am. at what time will all the three chime together

again that day?

SEOTA8,60 SHOCIN 90 DT 55596 ¢ S07¢ HoLren Drrhesr
0O, SO0 10 : 00 FoLXOE Surech Koeren 2.3ar0 Iraw 8
23 S07°CD S0F &) DAHOES” Briheon?

Options :
. % 1:00pm

. 2:00pm

8:00pm

3 8



10:00pm

4.¢

Question Number : 155 Question Id : 7473902065 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Arithmetical Ability - @0&eded arsndso

If income of Radhika 1s 25% more than that of Aarthi. then mcome of Aarthi is
how much percent less than that of Radhika?

0°HE e353°0N0 €38 0T 25% DEVYIT S0 38 837 0N0 T°HE
0T DOch F°eH0 5809 97

Options :

18%

1. ®

21%

Question Number : 156 Question Id : 7473902066 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Arithmetical Ability - 208e3¢5 e 050

The difference between 78% of a number and 59% of the same number 1s 323.

What 1s 62% of that number?
2,8 oS’ 78% DO T HOWS 59 %NS S50 323 ONS,

&3 Do 62% DOeh?
Options :

L 1054

1178
2. ®

1037

3 8

4« 1159

Question Number : 157 Question Id : 7473902067 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Arithmetical Ability - @0&5e3¢d P50

In an office, 40% of the staff 1s female. 40% of the female and 60% of the male
voted for me. The percentage of votes I got was

2,8 5TOP5I000ES” 40 % s00E YO [EN). 40 % |V HOCIN 60 %
BN TEL LD TR, T2EY SIS 8.8 Feed0

Options :
A0/
Lx 24%

42%

2. %

—
- 50%

52%
4.

Question Number : 158 Question Id : 7473902068 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Arithmetical Ability - 2@085e3¢5 Je0Q50
If the cost price of 20 articles is equal to the selling price of 15 articles. find the
profit percentage?
20 $5Q0H G 15 5806 €953245) OBED DXITH0 T &0B, €588
TR SDFTD0EG?

Options :

33% %
1. 8

331/3%
2. ¥

331/5%
3 8

33 1/7%
4. ®

Question Number : 159 Question Id : 7473902069 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Arithmetical Ability - @03(e3e¢8 a0 50

In a basket of fiuits, 60% are mangoes and remaining are apples. In that, 25% of
the apples are green and the rest are red. Of the mangoes, 80% are red and the
rest of the mangoes are green. What percentage of green fiuits are green
mangoes?

D0 208) €5 60% SN0 DO DOAN WAOIHY e3DS ).
@00 25% A5rDS ) @50, AN D05y SothHeS’
EOETON. AT HOES’ 80% I05) SOMIETET G500, sNOAN
DAOS ST DO e8EINTI T SO 350D Do’
€350TI.) AN DOC2 F°50 DOEH?

Options :

1.¢
2. %

3 8

4. &%

Question Number : 160 Question Id : 7473902070 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Arithmetical Ability - ©0%ie3ed a0 P50

The sum of the digits of a two-digit number 1s 14 and the difference between the
two digits of the number 1s 2. What 1s the product of the two digits of the two-
digit number?

DO @0TE) JOP§ ABNEY, 0T [0 14 DO &8 Ho§ A3IE),
DOCYH @OZE NS I5E°500 2. BOCH OTE SO O3NS DO

90T AWNE) VO )OeH?
Options :
L% 26

, 48



Question Number : 161 Question Id : 7473902071 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Arithmetical Ability - @0&§e3¢s 00

Which one of the following numbers is divisible by 117

180& H0EOS” DO 11 & 27A0TIDDS0E?
Options :

45678940

1. ®

54857266

87524398

3. %
4.9

Question Number : 162 Question Id : 7473902072 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Arithmetical Ability - @0&5e3¢5 e0Q50

X and Y make a partnership. X mvests Rs.8000 for 8 months and Y remains in the
business for 4 months. Out of the total profit, Y claims 2/7 of the profit. How

much money was contributed by Y?

X 0O Y 23090250 eD. 8 FeredF) X G308 20¢Y228% 85° 8000
DO Y 55T SE0 &S 4 Tered ol EeSarhed. Bwedo eresoes’ Y 2/7
H0E8) T T A, Y 065 520 EP22E T DWD?

Options :

~, Rs.5000
_ » Rs5400
, » Rs.7400

A Rs.6400



Question Number : 163 Question Id : 7473902073 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Arithmetical Ability - €90%ie3ed O30

A and B together start a business by investing in the ratio of 4:3. If 9% of the total
profit goes to charity and A’s share 1s Rs.1196, find the total profit.

A DB B EO 4: 3 D)8 5 NG D 75 rS0

S0 DOTT . FNB0 e32306S 9% o6¢3 & D[ELA o6y O 1196
ONB, BNS0 77237V EDFTS0%.

Options :
. Rs.2300

, » Rs.4435

Rs.2093

3. %

Rs.2700

4. %

Question Number : 164 Question Id : 7473902074 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Arithmetical Ability - ©00&{eSed e d50

A certain number of men can do a piece of work in 80 days. If there were 10 men
less, it could be finished in 20 days more. How many men are there in the

starting?

DA HoES HSDEN 80 F22eS 2.8 HA TOHEEIER. 10 500
58023 SOT, @A I 0 936308 20 F23en 076 DS,
(302506 DO SDOE BN S K07

Options :

Question Number : 165 Question Id : 7473902075 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Arithmetical Ability - @0&e5ed e 50

A and B together can do a piece of work in 12 days, while B alone can complete

it in 30 days. In how many days A alone can complete the work?

A S58050 B €02 2,8 HA 12 xS’ 520 TaHhiierkd. e9ons B
35750 30 FereS 70 TADTE. A 2.8, HA Q) B 0
DADHeE.?

Options :

, 15 days

L 18 days

v 20 days

4 » 22 days

Question Number : 166 Question Id : 7473902076 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Arithmetical Ability - @081 e3¢s 050

Two pipes A and B are opened together to fill a tank. Both the pipes fill the tank
m time ‘t". If A separately takes 4 minutes more time than ‘t’ to fill the tank and

B takes 64 minutes more time than t to fill the tank. find the value of ‘t’?

2,8 375050 QODTETAE A OO B €95 DO D)
BB525F00. BOCD YW t €505 HsNaHoeS’ Doy on. A
DA 7508 ONTRE t L0 4 ADTED DY SBDZOT) DOV
B ¢5505 QOH@AS t 0T 64 AATEN E0yed BDF0D, t eI
TS0

Options :
L 10

2. ® 20

; & 24

28

4.%



Question Number : 167 Question Id : 7473902077 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Arithmetical Ability - @0%85e3¢5 a0 Q50

A full tank gets emptied in 6 minutes due to presence of a hole m it. On opening
a tap which can fill the tank at the rate of 8 L/min, the tank gets emptied m 10

minutes . Find the capacity of tank?

IO QoA S $0150 GOGBEI0ND & DTS 95°e)
2959500, FEI ATAE 8 DS 1575938 oDNORS, o500
SOOI 3 10 ADTDOS 579 95)eh0E. S DT,
EDOFS05%?

Options :

100L

1. 8

, o 1201

130L

3. %

150 L

4. &

Question Number : 168 Question Id : 7473902078 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Arithmetical Ability - @08e3¢5 e 050

A bus 1s running with a uniform speed of 37 kimm/h. what distance will be covered

by bus in 8 hours?

2,8 22X0.) DEBE FHOS K0er%d 37 865 eI 15759 ) T 0E. &
K0EES” 2280 ) D0ed BTTER)) TZ0ENOE?

Options :

. 246 km
289 km

®

2.

. » 296 km

276 km
4. %

Question Number : 169 Question Id : 7473902079 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Arithmetical Ability - ©@0&1e3ed e 50

Two persons are moving in the directions opposite to each other. The speeds of
both the persons are 5 kimv/h and 3 km/h. respectively. Find the relative speed of

the two persons in respect of each other?

RS H580en 2,EOEES H53BE OIS’ Ecenchnrrr) B B Hsdve
BHO HEAT 5 8 D K% sDBAM 3 8T EID Koy,
2,.485E% DoD0HO0) XK H550e> g IRy S0k 2

Options :

8 km/h
1.

, « 10km/h

18 km/h
®

2 ki/h

4. &

Question Number : 170 Question Id : 7473902080 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Arithmetical Ability - @085e3ed a0

The surface area of a cuboid with 10 m long, 5 m broad and 3 m high 1s
10 20ES 8¢59,5 20EIS Tehen) 0BT 3 MEIS ety &) SN

50050 JIF 0
Options :
-, 105 sqm - 105 £5¢585y D

L 1045qm - 104 5555 EICD

L« 170 sq m — 170 53D oerdd

. F s,
4 v 190sqm - 190 £5C5E5Y MES

Question Number : 171 Question Id : 7473902081 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Arithmetical Ability - @085e3e5 50

What 1s the height of a solid cylinder of radius 5 em and total surface area 1s 660
sq cm?

5 203068 5rP0 OG5 B0 ENOBSE TS0 660 TIEN))
20E30E3 Ke> S 045 Ded DOoeh?

Options :

10 cm
1. 8

12 em
2. %

5 % 15 cm

16 cm
4.

Question Number : 172 Question Id : 7473902082 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Arithmetical Ability - @0%5e3¢d 00

Shantanu’s cap 1s in the form of a right circular cone of base radius 7 em and

height 24 cm. Find the area of the cloth required to make a 5 such caps?

F05DA €75 S0& ©02) 5% $080 BrHNoeS God. ) 25
TG0 7 D0ES EIED DO et 24 OEIEIED. 9EN50E3 5
EST D OB DONERE SIEDS NG JF°ersR)) EFS0H?

Options :

_ 5000 Sq. Cm. - 5000 2555 203D

1.

., 2750 Sq. Cm. - 2750 €555 22032

3000 Sq. Cm. — 3000 £5¢555) 0E3EH

3.

. 2700 Sq. Cm. —2700 £5¢535) R0e3nerch

Question Number : 173 Question Id : 7473902083 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Arithmetical Ability - ©90%e3¢% 250

Find the area of a square inscribed in a circle of radius 4 cm ?
FSG0 4 038 5906 TEL S IS0 TINE),
TR, S0 E?

Options :

32 sq cm
1. ¢ .

18 sq cm

2. &

56 sq cm

3. %

25 sq cm

Question Number : 174 Question Id : 7473902084 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Arithmetical Ability - @0&e3ed arsndso

The sum of the squares of the sides of a thombus is 1600 ecm”. What is the side of

the rhombus?
T02% BN, 292770 ST IS0 1600 DOE3NEID. 550202 TBE),
2,8 20230 )0eh?

Options :

L w 30 cm

20 cm
2

40 cm
3.8

L% 25 em

Question Number : 175 Question Id : 7473902085 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Arithmetical Ability - ©085e3e¢5 JenO50
The average of five consecutive even numbers 1s 28. Which i1s the biggest of
those five numbers?

D 533D DO BoWEE> HHED 28. €3 N HDoWEOS DE DE?

Options :



Question Number : 176 Question Id : 7473902086 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Arithmetical Ability - @08§e3¢s 00

Naseer spends 15% of his salary on clothes, 30% on food and 10% on transport.
After this, if he 1s left with Rs.900, what 1s his salary?

5286 €58 2865065 15% 228)en, 30 % 3535350, DB 10% Sarer &do
DAY DI, AR AT 565 B° 900 DA €965 3¢50 D0ed?

Options :
. Rs. 2000

Rs. 1500

2. ®

.« Rs.1700

, » Rs. 1635

Question Number : 177 Question Id : 7473902087 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Arithmetical Ability - ©0&8e3e5 e0050

49% of 490 + 490% of 49 =?
Options :
2641.1

1. ®

L 2401

2401

3. %

AV 480.2

Question Number : 178 Question Id : 7473902088 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Arithmetical Ability - @0%5e3¢d a0
v0.0049 +(0.02)>=

Options :

. 007

- 0.0704

0.0074

3.8

0.07045
4. %

Question Number : 179 Question Id : 7473902089 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Arithmetical Ability - ©088e3e5 a0
In a school, all the students can stand i a row, so that each row has 5. 9 or 10

students. Find the least number of students in the school

2.8 ST, Qs e @0SET ST DeXHNTN,), ST 5o
(D8 HBDE5,9 B 10 000 DEsHen &oerd. FdTersS DS
D HOP§D ENFS05.?

Options :

Le 20

100

Question Number : 180 Question Id : 7473902090 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Arithmetical Ability - @208edes e 050

v80 +3v245 - v125=7
Options :

205

1.



Is Section Default? : null

Question Number : 181 Question Id : 7473902091 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Algebrical and Geometrical Ability - 2)23563¢5 s08050 Dariiedes arsnY50

Which of the following represents tautology ?

18O 57¢36S” DO eds Db (Erexrered) Q HrNoE?
Options :

o — ~q

1. %

PA(~pAq)

e (p = @) A(pAq)

[PA(P= )] = ¢q
4.

Question Number : 182 Question Id : 7473902092 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Algebrical and Geometrical Ability - De23i5e3ed 0O Dariiedes o050
The point of ntersection of the line 5x+3y-7=0 and 3x-2y-8=0 1s

BPED 5x+3y-7=0 DO 3x-2y-8=0 © POCHS Do)
Options :

1. % (-2,1)
L, @D

3 8 (21}

(2.

Question Number : 183 Question Id : 7473902093 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Algebrical and Geometrical Ability - 2)23033¢5 08050 Dariiedes arsnQso

If tanf + cot6 = 2,then tan*6 + cot*6 =
tanf + cotd = 2 @OJL)&’JLSE’, tan*6 + cot*6 =

Options :

4

1. ®

Question Number : 184 Question Id : 7473902094 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Algebrical and Geometrical Ability - Destieded SO0 Darriedes v vel{e

A pole is 100v/3 m tall. Two boys who are on either sides of the pole observed the
top of the pole with angles of elevation of 30° and 60° respectively. What 1s the

LI — v —

2,8 Q02550 8 100v3 eI, V0238 BEIS YT &), RBHEKD
237e0E) @ 02550 I2THSDD 30° 0B35W 60° ¥ 8% e’
L3RRI 0. €320 05 86> PGB (DEISES’) Does?

Options :

., 300

2. v 400

L« 100

4w 200

Question Number : 185 Question Id : 7473902095 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Algebrical and Geometrical Ability - 2e3iedes SHBaA Dereiiedes 0P 50

ifA=[g} }I] .then A% =

Az[é '!{] oSS, A* =

Options :



B
LB
Nk
o A

Question Number : 186 Question Id : 7473902096 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Algebrical and Geometrical Ability - D2305e3eh 0O Dariedes 50
ng =nc, then, 3n, =
?ICGZH.C?'E]—_E)OJJX){SS., 3ng,=

Options :

681

1. ®

781

2. ®

; » 041

L 14

Question Number : 187 Question Id : 7473902097 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Algebrical and Geometrical Ability - 2)e3tieles SHOAM Derriedes P50
Let t,, denotes the n" term of an arithmetic progression. If 15t,s=10t,,, then
tys="?
£, @D @OEBAES 1 & DM DIDOTON. 15t;5=10t,
0N, tys=?

Options :

12
1. %

N



18

3. %
4.

Question Number : 188 Question Id : 7473902098 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Algebrical and Geometrical Ability - 2)23(63¢5 <00 BerEedes renB50
The ratio of radii of the bases of two cylinders 1s 3:5 and the ratio of their
volumes 1s 6:25. What 1s the ratio of their heights?

BOCKD QSN 25 5P DD 3:5 DO 3%¢3 DS
DOITEIAN DANB 6:25 @O, 7¢I DedE> DA DOes?

Options :

Question Number : 189 Question Id : 7473902099 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Algebrical and Geometrical Ability - £)230563¢5 08050 Darifedes arendso
R;. and R, are two equivalence relations defined on set A, then whatis R; U R, ?
R;S0DDC5MR,€0 Haed A 2 A 500252335 BOCH 581§ D005

0N, R; UR, a)Oc5?
Options :
Reflexive, symmetric but not transitive

DTZIB 50, DPaedad 57 HOIENEIN 5°CN.

Reflexive, transitive but not symmetric

D3B30, DOIENEIN 5°R) Draredsdd 5°¢0.

2.8

Transitive, symmetric but not reflexive

. DOE0£250, FrgdHehn T HH08SN FN.

3.



Reflexive, symmetric and transitive

DTG R0, Dradedsdn B30 HOEDISD

4.%

Question Number : 190 Question Id : 7473902100 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

lim 2x —4x%2 + x =

X—00

Options :

Is Section Default? : null

Question Number : 191 Question Id : 7473902101 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Statistical Ability - (ea708 0850

If the average of 3. 5, 15, 18, x, and 25 15 12, then X=

3,5, 15, 18, x 50O 25 © DD 12 9005, x=
Options :

l.835

Question Number : 192 Question Id : 7473902102 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Statistical Ability - (€770 PeDPS0
The standard deviation of py,p, . P, 18 a. then the standard deviation of

—5p1,—Spy,... 0P, IS
P1 D, Pn @ (56D QIOSW ‘@’ 0SS —5py, —5p,. . —5py
EISVAIRISIN W



Question Number : 193 Question Id : 7473902103 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Statistical Ability - (iea708 P50
The median of 2. 3. 7. 8, 15, 18. 20 1s

2,3,7,8.15, 18, 20 © 0O§Hed 0
Options :
1. % 7

8

2. ¢

—_
hn

3. ®

10

4.%

Question Number : 194 Question Id : 7473902104 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Statistical Ability - (5e3°08 s 50
Find the mean deviation of 22 28. 31, 35. 44 from their mean?

22, 28, 31, 35, 44 © 0560 DTIIGN 3°¢3 @90ZNE 5NN DO
SINVATS VAW

Options :
| % o i

6.2

2. %



Question Number : 195 Question Id : 7473902105 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Statistical Ability - (€708 Jre0Q50
The arithmetic mean and the geometric mean of two numbers are 100 and 60

respectively. Find the harmonic mean of the two numbers.
BDOCD DOPEE @0FNDE 3030 DO MHEINDE AN € ST
100 s8N 60. €3 DOCR S0P 777928 630§D S W.

Options :

24

1. 8

28

2.8

Question Number : 196 Question Id : 7473902106 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Statistical Ability - (€970 PN SO
The variance of 28, 24, 20, 16, 12 1s

28,24, 20, 16, 12 © ) e3.
Options :

39
L.¥ 7

3 8

Question Number : 197 Question Id : 7473902107 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Statistical Ability - (ie970% 0850
Two unbiased dice are rolled simultaneously. The probability of getting the sum i1s

a multiple of 4 is
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Question Number : 198 Question Id : 7473902108 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Statistical Ability - (e5708 reP 50
What 1s the probability that a ball drawn at random from a box having 6 blue, 3

brown and 5 white balls 1s either brown or white?
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Question Number : 199 Question Id : 7473902109 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Statistical Ability - (€708 re850

A number 1s chosen at random from natural numbers 1 to 50. The probability of

getting a non composite number 1s
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Question Number : 200 Question Id : 7473902110 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Statistical Ability - (fe3708 Dm0
When three dice are rolled, the probability of getting a sum of 5 or more than 5 1s

o0 oD EOONNS €8 arDE D ST BB 5 B 5 E57),
D302 DS K HOTH5eH

Options :
57
58

23
54

42
3 8 49

22
29



